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i %ommunication [15 marks@

g \ 1. The folloyving compounds have comparable molar masses. Arrange the compoufids in_
b0 | Eﬂer_of Increasing boiling points and give reasons for your answer. Also, draw each
|4 compognd below its name. [6 marks]
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2. Write the IUPAC name f%r each of the following compounds. [5 + 4 = 9 marks]
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Making Connections [6 marks]
3. Orlon is the name of a synthetic material used to make fabric and clothin is an
addition polymer. A portion of its structure is shown below. structural diagram

r\ol‘)  monomer. [3 marks]




4. Lactic acid (2-hydroxypropanoic acid), produced by bacterial culture in yogurt, contains

a hydroxyl group and a carboxyl group in each molecule. Draw a structure of two
repeating units of a condensation polymer of lactic acid molecules. [3 marks]
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Knowledge & Understanding [10 marks]

5. Draw the structure and provide a name for each of the following. [10 marks]
(a) A tertiary alcohol with the formula
C4H100.

(d) A ketone with the formula C4H30.
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(e) An ester-with the formula C;HsON,
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(b) An ether with the formula CsH1,0.

(c) An aromatic compound with the Q-H\an O‘,(“ d@
formula C7Hs.
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\(irite the chemical equations to illustrate the following reactions. [15 marks]
) an alkylation reaction of benzene
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(b) an elimination reaction of 2-chlorohexane
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 of methanal from an alcohol
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(d) the hydrolysis of N-ethyl hexanamide
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7. Describe a reaction pathway to synthesize 2-methylbutyl ethanoate, starting from
0!cowe 4+ ethane. Include all pertinent conditions. Show all reactants and products using
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